Using Corresponding Parts

of Congruent Triangles




é | Some triangle relationships ave difficult
to see because the triangles overlap.
Overlapping triangles may hove 2

common side or angle. We con simplify
this by separating and redrawing the
teiangles




(’9 n overlapping triandles, 2 common side
o OF 06[e 1S condruent to itself by the
reflexive property of congruence.




C

'3 Given: AACD = ABDC
Prove:  CE=DE




é Sometimes, we can prove one pair of
o [Piondles condruent and then use their
corresponding parts. To prove another

pair congruent.







